

EXERCISE 6 (1)

B.Sc. Math (H) D1 (H) part 1  
 Paper I, Group - A  
 summation of series  
 Dr. G. D. Singh

1. (v) Prove  $\cos \frac{\pi}{11} + \cos \frac{3\pi}{11} + \cos \frac{5\pi}{11} + \cos \frac{7\pi}{11} + \cos \frac{9\pi}{11} = -\frac{1}{2}$

Here  $\alpha = \frac{\pi}{11}$ ,  $\beta = \frac{2\pi}{11}$ ,  $n = 5$

$$S = \frac{\sin 5 \times \frac{2\pi}{11}}{2 \times 11} \cos \left\{ \frac{\pi}{11} + (5-1) \frac{2\pi}{2 \times 11} \right\}$$

$$\frac{\sin \frac{2\pi}{11}}{2 \times 11}$$

$$= \frac{\sin \frac{5\pi}{11} \cdot \cos \left\{ \frac{\pi}{11} + \frac{4\pi}{11} \right\}}{\sin \frac{\pi}{11}}$$

$$= \frac{2 \sin \frac{5\pi}{11} \cos \frac{5\pi}{11}}{2 \sin \frac{\pi}{11}}$$

$$= \frac{\sin 2 \times \frac{5\pi}{11}}{2 \sin \frac{\pi}{11}}$$

$$= \frac{\sin \frac{10\pi}{11}}{2 \sin \frac{\pi}{11}}$$

$$= \frac{\sin \left( \pi - \frac{\pi}{11} \right)}{2 \sin \frac{\pi}{11}} = \frac{\sin \frac{\pi}{11}}{2 \sin \frac{\pi}{11}} = \frac{1}{2} \text{ proved}$$

1 (vi)  $\sin \frac{\pi}{14} + \sin \frac{2\pi}{14} + \sin \frac{3\pi}{14} + \dots + \sin \frac{28\pi}{14} = 0$

Here  $\alpha = \frac{\pi}{14}$ ,  $\beta = \frac{\pi}{14}$ ,  $n = 28$

$\frac{2\pi}{14}$   $\frac{3\pi}{14}$   $\dots$   $\frac{28\pi}{14}$

1 (vii)  $\sin \frac{2\pi}{n} + \sin \frac{4\pi}{n} + \sin \frac{6\pi}{n} + \dots + \sin \frac{2n\pi}{n} = 0$

Here  $\alpha = \frac{2\pi}{n}$ ,  $\beta = \frac{4\pi}{n} - \frac{2\pi}{n} = \frac{2\pi}{n}$

$n = n$

Proceed on 1.



2 (i)  $\sin^2 \alpha + \sin^2 2\alpha + \sin^2 3\alpha + \dots$  to  $n$  terms (2)

Square it  
 Eliminate  
 2nd term  
 Formula  
 3rd term  
 Square it

$$\text{let } S = \sin^2 \alpha + \sin^2 2\alpha + \dots$$

$$\therefore 2S = 2\sin^2 \alpha + 2\sin^2 2\alpha + \dots$$

$$2S = (1 - \cos 2\alpha) + (1 - \cos 4\alpha) + (1 - \cos 6\alpha) + \dots$$

$$= \{1 + 1 + 1 + \dots \text{ to } n \text{ terms}\} - \{\cos 2\alpha + \cos 4\alpha + \cos 6\alpha + \dots \text{ to } n \text{ terms}\}$$

$$2S = n - \frac{\sin n \cdot \frac{2\alpha}{2}}{\sin \frac{2\alpha}{2}} \cos \left\{ 2\alpha + (n-1) \frac{2\alpha}{2} \right\}$$

$$\therefore S = \frac{n}{2} - \frac{\sin n\alpha \cdot \cos \left\{ 2\alpha + (n-1)\alpha \right\}}{2 \sin \alpha}$$

$= \frac{2\alpha + (n-1)\alpha}{(n+1)\alpha}$

2 (iii)  $\cos^2 \alpha + \cos^2 (\alpha + \beta) + \cos^2 (\alpha + 2\beta) + \dots$

let  $S = \cos^2 \alpha + \cos^2 (\alpha + \beta) + \cos^2 (\alpha + 2\beta) + \dots$  to  $n$  terms

$$\therefore 2S = 2\cos^2 \alpha + 2\cos^2 (\alpha + \beta) + 2\cos^2 (\alpha + 2\beta) + \dots$$

$$= (1 + \cos 2\alpha) + \{1 + \cos 2(\alpha + \beta)\} + \dots$$

$$= (1 + 1 + 1 + \dots \text{ to } n \text{ terms}) + (\cos 2\alpha + \cos 2(\alpha + \beta) + \dots)$$

$$2S = n + \frac{\sin n \cdot \frac{2\beta}{2}}{\sin \frac{2\beta}{2}} \cdot \cos \left\{ 2\alpha + (n-1)\frac{2\beta}{2} \right\}$$

$$\therefore S = \frac{n}{2} + \frac{1}{2} \frac{\sin n\beta \cdot \cos \left\{ 2\alpha + (n-1)\beta \right\}}{\sin \beta}$$



3 (i)  $\sin^3 \alpha + \sin^3 (\alpha + \beta) + \sin^3 (\alpha + 2\beta) + \dots$  to  $n$  terms (3)

$$S = \sin^3 \alpha + \sin^3 (\alpha + \beta) + \sin^3 (\alpha + 2\beta) + \sin^3 (\alpha + 3\beta) + \dots$$

$$4S = 4\sin^3 \alpha + 4\sin^3 (\alpha + \beta) + 4\sin^3 (\alpha + 2\beta) + \dots$$

Concept  
cube of  $\sin$   
4 terms  $\sin^3$

$$= (3\sin \alpha - \sin^3 \alpha) + \{3\sin(\alpha + \beta) - \sin^3(\alpha + \beta)\} + \dots$$

$$= [3 \{ \sin \alpha + \sin(\alpha + \beta) + \sin(\alpha + 2\beta) + \dots \}] - [ \sin^3 \alpha + \sin^3(\alpha + \beta) + \dots ]$$

$$4S = \frac{3 \cdot \sin \frac{2D}{2}}{\sin \frac{D}{2}} \sin \left\{ \alpha + (n-1) \frac{D}{2} \right\} - \frac{\sin \frac{3D}{2}}{\sin \frac{3\beta}{2}} \sin \left\{ 3\alpha + (n-1) \frac{3\beta}{2} \right\}$$

$$S = \frac{1}{4} [ \dots ]$$

$$\sin 3A = 3\sin A - 4\sin^3 A$$

$$\therefore 4\sin^3 A = 3\sin A - \sin 3A$$

$$\cos 3A = 4\cos^3 A - 3\cos A$$

$$\cos 3A + 3\cos A = 4\cos^3 A$$